ridetech = =

Air Ride Techno!ogres

Part # 11440999
88-00 C-3500 Front CoolRide Kit
For Use with Lower StrongArms

Components:

2 90007325 26C Airsprings

2 90000381 upper spring pocket mounts

Hardware:

4 99371003  3/8” x 1” uss bolts lower airspring mounting
4 99373005  3/8” lock washer lower airspring mounting
4 99372005  3/8” SAE (fine threaded) Nylok  upper airspring mounting
8 99373003  3/8 SAE flat washers upper & lower airspring mounting
2 99435002 7/16 x 8” studs upper bracket

2 99432001  7/16 USS nyloc nuts upper bracket

2 99433002  7/16 flat washers upper bracket


https://www.carid.com/ridetech/
https://www.carid.com/suspension-systems.html

